Owner's Manual

4x3x1.95m

,, {7)43%%%

«md
%xm

000

e

Ve




LIST OF MATERIALS

TS | DIMENSION STYLE PIC QUANTITY
@ 1370mm 4
@) 1840mm / 10
@ 750mm 6
@ 1520mm 6

1705mm 2

@

@ 570mm 1
A 1595mm Door left 1
B 1595mm Door right 1
C 455mm Door buttom 2
D S 6
E Qgg, 4

Hinges: 2 pieces
Lock: 1 set
Bracket: 8 pairs
U Clips: 2 pieces
Roof: 1 piece
Pa rtS Rubber rope: for roof

Cable ties: 1 package 1
PaCkage M8 square heard screws: 8
M8 screw nuts: 14
M6 square heard screws:2
M6 screw nuts: 2
Electro hex: 1 pieces,total 22 meters










1:10
®
® o
d T T, x
N © 110
Ob
step.6
Reticulation Roof
l S
: A
m X
/ =l
!
k'3 m
< > m v Y
«— dg




	4x3x1.95m page1
	234
	图纸2
	工程图视图2
	工程图视图3
	工程图视图4
	工程图视图5
	工程图视图6
	工程图视图7
	工程图视图8
	工程图视图9

	图纸3
	工程图视图19
	局部视图 Ⅱ (1 : 10)
	局部视图 I (1 : 10)
	局部视图 Ⅲ (1 : 10)
	工程图视图31
	局部视图 Ⅳ (1 : 10)

	图纸4
	工程图视图33
	局部视图 Ⅵ (1 : 10)
	局部视图 V (1 : 10)
	工程图视图37
	局部视图 Ⅶ (1 : 10)
	局部视图 Ⅷ (1 : 10)


	page5



